ADC 4~20mA

°C @k KPA =i oI 1 2021/6/21

IEREPT/SYEHEIREE 0~200°C --> 4~20mA

SEREEPT(SYEEENREE 0~200°C --> 0~20mA

IEEEPT{SEEEEIA5E 0~100°C --> 0~20mA

e | B e | B e | B
0°C ~ 200 °C 0°C ~ 200 °C 0°C ~ 100 °C
4mA ~ 20mA £ K=(200-0) / (20-4) = 12.5 OmA ~ 20mA 2 K=(200-0) / (20-0) = 10 OmA ~ 20mA £ K=(100-0) / (20-0) = 5
400mv~ 2000mv B K=(200-0) / (2000-400) = 0.125 Omv~ 2000mv B K=(200-0) / (2000-0) = 0.1 Omv~ 2000mv £ B K=(100-0) / (2000-0) = 0.05
6400~ 32000 counter 0~ 32000 counter 0~ 32000 counter |&#K=(100-0)/(32000-0)=0.003125

400mV / 0.0625 ICHYfEHTE = 6400 counter{&
2000mV / 0.0625 ICAYf##HTREE=32000 counter{&

2000mV /0.0625 ICAI#ZHTE=32000 counterff

2000mV /0.0625 ICAI##HTE=32000 counterff

Bl |EEEREIEE = 6.25 mA BT [EEERAIEE = 6.25 mA B |EEEAIEE = 6.25 mA
(6.25-4)x 12,5 = 28.1°C  EBfE (6.25-0)x 10 = 625°C  E{pRE (6.25-0)x 5= 31.25°C  EEfpRE
6.25mA* 100Q (PCHz EFERE(E) = 625mV 6.25mA* 100Q (PCiz EEBRR(E) = 625mV 6.25mA* 100Q (PCHz EFERE(E) = 625mV
4mA* 100Q (PCHr LFEFE/E) = 400mV
(625-400) x0.125 = 28.1°C EfHRE (625-0) x0.1 = 62.5°C ESfifiEs (625-0) x0.05 = 31.25°C ES(iiigE
625mv/0.0625=10000 counter {§ 625mv/0.0625=10000 counter {& 625mv/0.0625=10000 counter {§
F2 ;. |EEESHIEE = 6.69 mA F2 ;. | EEESHIEE = 6.69 mA fF2: | ESEAIEE = 46 mA
(6.69-4) x 12.5 = 33.6°C BRHRE (6.69-0)x 10 = 66.9 °C BihE (4.6-0)x 5= 23°C BAARE
6.69mA* 100Q (PCHz EFERE(E) = 669mV 6.69mA* 100Q (PCHz EFERE(E) = 669mV 4.6mA* 100Q (PCHy_LEEFE(E) = 460mV
4mA* 100Q (PCHr LFEFE/E) = 400mV
(669-400) x0.125 = 33.6°C E&{iiRE (669-0) 0.1 = 66.9 °C ES{iriRE (460-0) x0.05 = 23°C ES(ifE
669mv/0.0625=10704 counter {§ 669mv/0.0625=10704 counter {§ 460mv/0.0625=7360 counter {8
I3 : EES{55REERE8 0~100 KPA --> 4~20mA i3 : EES{55REE15RE8 0~100 KPA --> 0~20mA 3 : B {S5REIREE 0~100 KPA --> 0~5V
1w | = we | =2k 1w | =5
0~ 100 KPA 0~ 100 KPA 0~ 100 KPA
4AmA ~ 20mA R K=(100-0) / (20-4) = 6.25 OmA ~ 20mA R K=(100-0) / (20-0) = 5
400mv~ 2000mv ZREK= (100-0) / (2000-400) =0.0625 Omv~ 2000mv ZEK= (100-0) / (2000-0) =0.05 Omv~ 2000mv ZEHK= (100-0) / (2000-0) =0.05
6400~ 32000 counter |ZEK=(100-0)/(32000-6400)=0.0039062 0~ 32000 counter |Z&#K=(100-0)/(32000-0)=0.003125 0~ 32000 counter |Z#K=(100-0)/(32000-0)=0.003125

400mV / 0.0625 ICHYfEHTE = 6400 counter{&
2000mV / 0.0625 ICAYf##HTREE=32000 counter{&

HEERIEE =46 mA

(4.6-4) x 6.25 = 3.75 KPA  ESfiRE

4.6mA* 100Q (PCHy LFBE(E) = 460mV
4mA* 100Q (PCHr LFEFEE) = 400mV
(460-400) x0.0625 = 3.75 KPA  E{iRE

460mv/0.0625=7360 counter {&

(7360-6400) x0.00390625 = 3.75 KPA  EEfiiE

2000mV /0.0625 ICAI#FHTE=32000 counterff

HEMRIEE =46 mA

(4.6-0)x 5 = 23 KPA  EfpRE

4.6mA* 100Q (PCHy LFBfE(E) = 460mV

(460-0) x0.05 = 23 KPA  EfiiRE

460mv/0.0625=7360 counter {&

(7360-0) x0.003125 = 23 KPA  EEfiiRE
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2000mV / 0.0625 ICHYf##TE=32000 counter{d

HERAEE =30V FEE (3V/5V)*2V =12V

BNSVRRRERM1.2V 1.2V=1200 mV

(1200-0) x0.05 = 60 KPA EfifE

1200mv/0.0625= 19200 counter {&
(19200-0) x0.003125 = 60 KPA  EE(iRE




